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1. Use logarithms to solve the equation 437=1 = 3(5%), giving your answer correct to 3 decimal places.
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2. Solve the inequality |z — 3| > 2|z + 1. [4]



3. Showing all necessary working, solve the equation 2logyz = 3 + logy(z + 1), giving your answer
correct to 3 significant figures. [5]
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/ 4. (i) Prove the identity cos46 + 4cos20 = 8cos*f — 3. - [4]
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(i) Hence solve the equation cos46 + 4 cos20 = 1 for —im < 0 < L. [3]
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5. The polynomial 223 + 522 +az+-b, where a and b

are constants, is denoted by p(z). It is given that
(224 1) is a factor of p(z) and that when p(z)

is divided by (x + 2) the remainder is 9.
(i) Find the values of a and b.
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(i) When a and b have these values, factorise p(z) completely. [3]




(i) Express v/6cos6 + v/10sin @ in the form Rcos(f — ), where R > 0 and 0° < a < 90°. Give
3]

6.
the value of o correct to 2 decimal places.
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(i) Hence, in each of the following cases, find the smallest positive angle § which satisfies the

equation
(a) VBcosh+ v10sinf = —4, 2
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522+ x+6

7. Let f(av) = m)‘

(i) Express f(z) in partial fractions. [5]
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